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Bellwork

- H(2nm-2)= 24
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3. The sum of twice a number and 8 is 14. Write an equation to
represent this situation. What is the number?

Solve the inequality. Graph the solution.
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Solve the inequality. Graph the solution.
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¢ Use what you already know about solving equations and inequalities
to solve each multi-step inequality. Graph your solutions.
a.2x+3<sx+5 b.2x+3>x+9
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Solve the inequality. Graph the solution.
1.4b-1<7 2.8-9c2-28
3 2 9
3. i1 4. 8b-3>4(2b + 3)
(20 (L ()2 D g-de 215 D 23 O @) 90l35 4pe)
=y 2. \9 % g - -\ .
C A/, o3> Kot1r
; : "3 ) : |
2_-_‘_'(%_ -2, 4 ﬂQ S ( >O \g«b “éb
W e <. - R |
Wy -9 < (4 TL\’) LQ 371
— L i o M - e | Folse
b £ 9. 34 9 -3 -2 -\ 1 no :
v I Sionon
Ty P P '
2 24| 78 21

Solve the inequality.

5.5x - 12 < 3x - 4 6.2(k-5)<2k+5

7.-4(3n-1)>-12n+52 8.3(2a-1)210a- 11
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Break

You earn $9.50 per hour at your summer job. Write and solve an
inequality that represents the numbers of hours you need to work to
buy a digital camera that costs $247.
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You have at most $3.65 to make copies. Each copy costs $0.25. Write
and solve an inequality that represents the numbers of copies you can
make. 0.1BX £ 3, ) 0% °= CQ(D\QS
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The maximum speed limit for a school bus is 55 miles per hour. Write
and solve an inequality that represents the numbers of hours it takes to
travel 165 miles in a school bus.
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You need a‘fmean score of at least 90 " IrivialChallenge
points to advance to the next round of
the touch-screen trivia game. What

scores in the fifth game will allow you ; }
to advance?

1
b 1 |

| r-1 Your Scores

=(T) Game 1: Very 1mpresswe' |
. (] Game 2: Good job! J
| j-f@ Game 3: You can do better!|

m@.}ﬂ O\\fk_,k ( u.i C-C\ Game 4: Nice work! J
X = c) FArg. =

>
= 290

FQ\G 6}%&) >(10)5

3504+ Y S U4HO
“ 363 3572

[x>ag |

—r



August 23, 2018

9. WHAT IF? You need a mean score of at least 85 points to advance to
the next round. What scores in the fifth game will allow you to advance?
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Homework

WS 2.2 Solving Inequalities and Application




